61/TET-211-EM/TM

PART - 1

BOOKLET

CHILD DEVELOPMENT AND PEDAGOGY

L A uaacher conducted a study on
Effect of Study Habits on the
Achievement of Sclwa ,Students' 1
The independent variable in this

(1) Study Habits

(2) Teacher

(3) Achievement

{(4) School Students
u&m*@éﬁ@aﬁ#&%d
2 eb53sed of sm S 2oy o3
asse S, $1 eiisied’ S0l

= e

(1) 38 08,

(2) oot

(3) sties

(4) s Eispzed,

Identify the INCORRECT

statement regarding the use of

defense mechanisms. L

(1) One can find an excuse tq..'
defend an unhealthy behaviour..

(2) Repeated use improves one's
individual abilities.

(3) One can deal w:th stren
positively. 1

(4) One can avoid dealing with

hurting emotions.
& Bojgre amaswamm
DB w0 Kogoted
(1) mmmw

HANSEY
m,mmmwm

St Tt Tl ST
3) m»g&awawm
(4) exo oy OAD - pw

SsnOouE Aoy '

4.

2]

The | 3. The scope fm! studi:nt centric’

laarmng is :mmmal in this method
(1) Heuristic method

(2) Discussion method

(3) Project method

(4) Lecture method

B350 Song - fouy eyl BES
S0 Gowool

(1) oneirs 858

(2) Soya88

(3) 2B 258
BSs 350

The class teacher, while! observing

children in playground, makes a
note of how Sheena averted a major
accident by shouting immediately
noticing the spark. This is an
example of ) Y :

(1) Anecdotal Reco

(2) Introspection

(3) Case study

(4) Observation

BUND GIrC0Tres, S :gocé‘ EEER
RSaDntstis, S Ny Hughs NEsod
5o Joke ovo DY BEFTY S
Srdodol F5Ech. 30 AN nE st
(1) Sessouss B3 02

(2) wonsbye
(3) &

(4) “0%e

S
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5. Identify the INCORRE y
statement with respect to (1,
‘developmental tasks'

(1) Developmental tasks } .
parents to check their child ey, i
development

(2) Developmental tasks help, ,h,; '

teachers in providing the
appropriate learning activitips .

(3) Developmental tasks do not help
in understanding the childrep's
development

(4) Developmental tasks guide the
educationists in framing the
curriculum

TIIBY Hones B Sowolod 50 T
oloted _
"‘5;5' 5hoe t}!‘.ldc ek boy

w*‘m
@'?’:‘5&‘ Hoees :1...“‘;;'50}..:-95: i
m‘;ﬁ.‘::b :fu'{e:'&.: solowuds 6‘
(3) Sy Houe: Deo v
SsoShuedt; :;*tnuaa-::a
(1) S8y Howes Jovdsess
DopSerONE tvnobosedt
SSRGS B i
Learning of History neither help
nor hinder the learning of

Economics, this is an example of
(1) Zero transfer

(2) Bilateral transfer

(3) Positive transfer

(4) Negative transfer

(2)
(3) ﬂ.‘?:#ﬂﬂw

7.

8.

(4) SO0 nicraey

BOOKLET @

This practice 18 NOT useful in

storing the learnt material in

memory for longer period

(1) learning by understanding

(2) discussing the learnt material
with others

(3) over usage of the learnt material
meaningfully

(4) practicaing
understanding

Aot DR, Doy e 506" Yo
L0 a0 T3 el ARAINSENe

(1) i S8 Sopstac

(2) Bt DRaSPD, aBtoed Shetts
(3) iy RN, siwcten S0

s &
@} Wﬁﬂmc'mlﬂ'ﬁﬁﬂ-‘)

A boy attended the school without
interest initially, later on attends
the school enthusiastically due to
the appreciation received from the
teacher for his innovative thought.
This 15 an example of

(1) Social Learning Theory

(2) Trial & Error Learning Theory
(3) Operant Conditioning Theory
(4) Classical Conditioning Theory

without

LY et Do Jos® el S
SPRlcis, & BLETD B D, ek
Spraliand oed SO BEcl Tmom
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(2) constructed based on thel
information available in
texthooks only

(3) received passively
experienced elders

(4) constructed thrgin'h
experiences and interactions

NCF, 2005 3xbe, o 30 eob

from |

(1) e Sctowds suoote el OO0 11,
= \
(2) dypredt  wsowd &l

SirTwe ecrtem LMiis A8eteed

(3) emogieDs Die ol Dy g e
S8eoed

4) s,

“optemt

10. From the following, identify the

CORRECT statement with respect

to 'Maslow's Hierarchy of Needs'

(1) It is not necessary for a person
to follow the Hierarchy of Needs
to attain Self-Actualisation

(2) All persons can attain Self-
Actualisation with the increase
in age

(3) A person can reach the highest
level need, i.e. Self-
Actualisation, on fulfillment of |

all the lower needs. e
(4) A person can reach Self-
Actualisation immediately on
fulfillment of Physiological

needs

il M e
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1o o el o eniore sieely’

% depedod $TN SOpf e Kegeled

(1) =553 ‘aly TP fe gttt ek
sotore ensiEsedisle a.M
wistc 8 .

(2) Bovass BOE 5G Hpoetis @R
sol’ we ety .

(3) ¥ 2,3 o3y Roy; wudoes RS
B ES Sl e GEEE0, S
iy B 5 St

(4) L¥ 0] TOL essoee DTS ¢
o s Sties

The parents, on ohserving their son

showing interast in singing,

approached the teacher to zuid:e

whether they can encourage theiwr

son to become a pmfasginq.nl singer

in future. To know the potential of

the child and guide the parents, the

teacher need Lo assess this aspect of

the child

(1) Creativity

(2) Attitude

(3) Aptitude

(4) Interest

B Besk Daee Su ukd LrEey

Rasneni BYB(Ees, HTgE" B

Pk Srpued  honfn  Shots®

Hpineoe S b BrEUGS DO

ANCE D Seplomrie. e DA

Jessoshocnd, shsciEess SrYNREe

iwond, © bgmd $ wowed

S0p clantis wolae Sarl

(1) oo

(2) 2o0_
) e g0
(4) i




12. As per the section 28 (2) of the RTE
Act. 2009, one of the following need
not be considered by the academie
authority while laying down the

and

purriculum evaluation

procedure

(1) Building up child's knowlcdge,
potentiality and talent

(2) Comprehensive and continuous
evaluation of child's
understanding of knowledge

(3) All round development of the
child

(4) Medium of instruction shall, as
far a= possible, be in English
from Class V1

(3) bgosgFaseiiod
(4) Spn SopEes DBRB LN VES

BEND ool welied' Gel
From the following, identi fy the tool
that DOES NOT assess atl itude
(1) Thurstone Equal Appearing

Interval Scale
(2) Cattell's 16 PF
(3) Bogardus Social Distance ~-ale

13.

14.

(4) Guttman's Scalogram

W-61/TET-21 1-EM/TM
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300 EE', 200h mowne A Dems:

nQeuel R

(1) 32,5 6158 ebsotel seund .8

(2) =& 16 PF s

(3) Srgl RaB a5 5,

Children e

protective style of parenting

exhibits one of the following feature

(1) leads the life
independently

(2) more emotional stability

(3) less competent social skills

(4) better understanding of the

world
oD - Setir Sosy V&' DEKD boes T
3ol oFePly BEGTE
(1 m::baba_._m@nms':bmm
(2) R

renred with

mare

Identify the concept that is NOT
related to Vygotsky's Social-
Constructivism

(1) Scaffolding

(2) Zone of Proximal Development
(3) Private Speech

(4) Egocentrism

sy, bRyt boeoris
Sowese B et leted

(1) 3,80ef

(2) 6% of Dyl oepS

(3) FoS el

(4) encloitorte

Turn Over



pven if makes W
thing wrong
treat him with
4 value his
nts are

16. Rohan knows that
mistake or does somé
lifie, his purents would
love, affection and woul
decision. Rohan’s pare
demonstrating
(1) Congruence
() Self-Actualization
(3) Conditional Positive Regard
(4) Unconditional Positive Regard

S e Dt ien S DR B
L, sbn BhSoEe: wbID (SETh

udaxns SR, wih) KRR Jess
22en 5 3 Bauts, Binl BhteE®

» A

:
3
©

%
¢
%
§

' theory of

So0 sussae

(1) oo 18. According 10 Bruner

(2) Wi, FPel instruction, learners construct
knowledge through:

WFM?&#

17. Teaching can be ndapied (o meet the
individual needs of diverse learners
by
(1) Employing differentiated

instruction to cater to learners'
unique abilities, nterests and

learning styles,

(2) Enforcing strict teaching
methods to achieve uniformity
among learners.

(3) Neglecting individual
differences and following &
standardized instructional
approach.

(4) Implementing a homogencous
teaching method for all learners.

b/va'-s I/TET-211-EM/TM
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(1) Direct instruction and expheit
guidance

(2) Memorization and rote learning

(3) Passive reception of information

from the teacher
(4) Exploration, discovery and

active participation
o s ipote TR, Seyses B2
e e DO REOIRES
(1) oS53, SRS SPEES0e
(2) 3omzo Satans, B OG5S0
| (3) adpainn el SarTRens

*;_i"i G, el e, mwm\

—
-
i

= ———————
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19. Inthe interactive phase of teaching,
the teacher engages in activities
such as:

21

(1) Presentation of concepts and
facilitating discussions

(2) Preparing materials for future
lessons

(3) Reflecting on the effectiveness of
the teaching learning process

(4) Assessing students' performance

and assigning grades
Shss o S, AT 308
ool TRl e
(1) isens  SE5oe, eSS
< Dfases
2) g8 S Doe Sio IR S¥e
Aase
@) Comgpss  Bda: BOTR
Soleleos
(4) cogdge a@mmb:&&m
Borcasetow
20. A six - month old infant 15 giwven 8

22.
new toy. He responds to it by putting

the toy in his mouth. This 15 an
example for this process of Piaget's
Cogmitive Development

(1) Adaptation

(2) Equilibration

(3) Assimilation

(4)- Accommodation

‘r‘:_:‘m-

oo ol
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When a new bhorn infant cries, his

whole body 18 involved, but as he

grows, itis limited to vocal cords and

eyes. The principle of developme nt

involved here 18

(1) Principle of Interaction

(2) Principle of proceeding from
general to gpecific

(3) Principle of [ntegration

(4) Principle of Interrelation

et .,::,Fanm NS, SO

shte Do TSV Aowsel, PN BB

(1) S S5 RTE0
(2) v Sl PGB

q;i} SR 0 )
TSRk SMEO

According to Kohlberg, ‘conscience
of an individual’,

guides behaviour

in this stage of moral development.

(1) Stage V of ant.—imnvenl.innu]
level

(2) Stage VI of puat-cﬂnventinnnl
level

(3) Stage 111 of conventional level

(4) Stage IV of conventional level

§85ub mmoe, TO8 LT & B
*Mgwwgw--

{ = -
éﬁgbuh@m::mﬂﬁ =)

(3) romcrae e 111 &%
(4) Sreporats o IV &3

Turn Over



23, From the fo
example for inter |
differences.

ndwlﬂﬂl«l

(1) Ramu is interested only in |

languages but not m nther

subjects.

(2) John is active in nendamc ’

activities and also paruﬂpl
in community service. |

(3) Except in physical lppamnﬂar'

both the identical twins vary
from each other in other aspects..

but also good in writing SONgS.
308 o) Noed, S;,000 forcto &8
Sesito Ko
PROES el sob TN qw
SReires u:aia:u \
(2) =8 Loy :-asim.‘aaé“ SofsKam
Sounds, sure Sudt 1o Do
(3) 08 tID DosiStoued, Sl
Niows, gt 00U somed® S B
SOLPLS
W) 50 socom euds T8 See Uo
Seonm ol
24. The individual doesn't know when
he is going to be rewarded. Here, the
reinforcement given 1s
(1) Fixed ratio reinforcement
schedule
(2) Variable
schedule
(3) Continuous reinforcement
schedule
(4) Fixed interval reinforcement
schedule

reinforcement

W-61/TET-211-EM/TM (8]

llowing. :denhﬁ! 'n -k

SRR S
qﬁ:umﬁ DO, 7y .
Petpras

(1) 6 AR TGOS St
(2) Sto PRpHER Pl

(3) DEeBE PGSR Do

(4) umro R0 VG S Las

'25. A student learning by perceiving

the situation holistically is

(1) Classical conditioning
(4) Sita is not only good in SINEINg |

N @) Insightful learning
§ (3) Trial and error learning
~ (4) Operant conditioning

S S Sdadeiidc SO ¥
! Lo wlenis

B (1) Sopoanl duskse

(2) wobpp ubssse

'

| (3) oy - uegie

@® Wmoﬁo)

26. One of the following is NOT a

mnemonic device
(1) Key-word method
(2) Recall method
(8) Method of loci

(4) Peg-word method

3o T3St LS Floiioty 350 T
(1) -5
2) bEisd

TP
(4) DR-SQRST
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A student is not able to adjust in

school due tq disturbed emotiongl

state, The student was referred by

the teacher to the Guidance and

Counselling Centre, The guidance

to be provided to the student in this

(1) Voeational Guidance

(2) Both Educational and Perszonal
Guidance

(3) Educational Guidance

(4) Personal Guidance

L¥ SonQ D283 TR 0 eoerm

wSees  rosloeo s,
Sdocises » DGR, wel P ek
2eelnTHl Snte. u Don gl cedeolys
ol

In one of the lollowing activities
performed by children, there is a
scope for social, emotional, moral
and physical developments

(1) Playing

(2) Memorizing

(3) Solving puzzles

(4) Reading textbooks

boos 38 1 #ol Mtodred’, Ly e
JSrey, &30, 04, POy Irdok

(3) wad, sty Cotie
(1) Sgpmress shoks

4]

29, Among the following Atatemonts,

BOOKLET

identify that DOES NOT reflect

experientinl learning,

(1) The students collecting Lhe
specific words used in that loen]
nrea.

(2) The students demonstrating the
activities of local psnchayat.,

(3) The students performing seed
germination activity at home,

(4) The students reading the
textbooks and learning the

concepts.
300 SS2seifedt, wieSyrty sgsm,
S00clons DL Rloled

(1) Sorgtyes © 08 erobel' 2l 25y
Soepins B3lolow

(2) wm.‘e:ﬁ:&uﬂl.ﬁ:h 5"5550-3‘0:0

(3) Smmgges sod 95 2% wokTug
N

(4) Sovdipes DuRpRTE BOL, putols
LA

Holistic Progress Card of a child

indicates his/her development in

(1) Affective and Conative Domains
only

(2) Cognitive, Psycho-motor and
Affective Domains

(3) Cognitive Domain only

(4) Cognitive and Peycho-motor
Domaing only

DG SN BAS DG DO T4 Imy

BPOSel '

(1) ods & FR0S tome 5P

(2) Seepmbyy, SFhy SoTby, PTN
Sameii

(3) Soupmu tem SrEts

(4) Segmis & S Lol Temuie
s Turn Over
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3L ‘demw s dcalege-
mep . @) ¥

(3) cxuzmoss (4 Mc
;w!:ﬁ?ﬂlwm?

(1) mods, s, Sc¥o

(2) gnDs oI, 0

(3) sgo, w2, 38
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(1) corndy 308

e

(4) tomnes 38

| 84,
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(1) Tommembioe:

48. oir LS8 PIrorIe YT e @) = S -
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1 ' o TV

(1) &b urrise Tl B :
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W-61/TET-211-EM/TM 12]




53,

GEN

‘D5 D 500
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(2) Sasioore oeld

(3) S:38% weontio Smmemts
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(3) e
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or, 3000l Rl md ol e dion?
(1) 3 Soxeo

(2) Sesic ooee

(3) 52 SioakSes

(4) Deort GBE PTH Firore:

57.

TELUGU METHODOLOGY

(1) &5 o2 60.
(2) e mEReRe ‘. |
(3) S0 3085 .
(4) cofrd 3258 - o B 05 ﬁ
56. s ot bisies S PR TO Y
s SENpEIesl oo™ ST
Ty, STTOeS - .
(1) SehmSnemesd Surees
(2) &8 somis
(3) =38 elioe FUTOW
(4) Fofc Dvmess
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61. Read the statements (a) and (b) and (4) Google is more SOURht aftor vy,
choose the right option. SR Seorcr
(a) The teacher asked Ms. Suma, Engne.
"Why didn't you mmplcie the 66. [dentify the appruprinh- word 1,
work™ . complete the sentence.
(b) The teacher asked Ms. Suma The passenger entered a two ...
why she hadn't completed the AC coach.
work. (1) tear (2) tyre
(1) Both (a) and (b) are correct. (3) tire (4) tier
g; g[:iz::: ;mi ®) nrel theaggpcts 67. Choose the correctly sequenced
(4) Only (b) is correct. eIy
: in the / their lives / Many people /
o [Qdenh&[ Itbﬂl pnr‘l'. t.hnl tl h"! m; m: i devastating floods / have lost.
A B - (1) Many people have lost their
are wostly. lives in the devastating floods.
C D (2) The devastating floods have lost
M C @ D in many people their hives.
(3) A 4) B (3) Many people have in the
63. Choose the CORRECT question tag ﬁi::atatmg floods lost their
54 {:ump]etci the Sentence. (4) Many people in the devastating
OPOITE Windlow, 2o floods have lost their lives
(1) can't you? (2) do you? . ' '
(3) willyou?  (4) shall you? 68. Identify the INCORRECT se:tr.'lm:u
(1) Mr. Ramu had busy schedule,
- f;:':f::z;::;ﬂy speltwoxd from yet he attended the party.
I i ndavia ‘52) UM il (2) Though Mr. Ramu had busy
{3) et schedule, yet he attended the
: party.
656. Identify the sentence which is (3) In spite of his busy schedule, Mr.
different in meaning. Ramu attended the party.
(1) Google 1s the one of the most (4) Though Mr. Ramu had busy
;-:uught after Internet Search schedule, he attended the purt*j:'.
ngines,
(2) Numt?lher Internet Search 3 F‘-hnosﬁa Ehe_acceptahlp‘ F.mm S
Engine is as sought after as %ubm:'nptmnml.etterwntmg_
(1) Yours' affectionately
Google. (2) Your's affecti
(3) Google is the most sought after g’ 'nnnte
Internot Search Bl (3) ‘I'uurs affectionately
(4) Your's affectionately
W-61/TET-211-EM/TM [14]



70-74 : Read the follow ing passage
the correct option for each question

of climate chan ge are already

gripped “‘ SV
'--l-'—"--'

However,

all disasters, whether the» are
COVID-19. For too long,
than pay

'Lﬂ-rtfuuy and answer the

on o
ur dmrrnl:ap Ten flﬂ}'E ﬂgﬁ lhlue r.untmu nh

it is clear that the world needs to do more to prevem it the

BOOKLET @

uestions given, Choose

Lummg more and more lives, The mBequence
p-t

“Fn'

o fl:ll"t"ﬁt ﬁI‘Hu have ra ITI-EFd parts of (3

v i Greece nnd(_
: anada,
Twb weeks Ago. the river Yamuna blEHc}wd the hlghest flood l{'w]

ago, and inundated parts of Delhi. The cost of these ¢ dum

recorded 45 '\'1+F't_re=.
Blersisy pt to h.i

Y
-

determined.

rmk of losses from

weather.related, EarthQUern or hmlnp_.{u =l like
countries Kavo spent ant billions 1 responding tmhmal. are m;hr.
ing a little upfront to prmem or reduce their impact,

70.  According to the passage, the cost of
the disasters

“is'yet to be estimated ~—"
(2) s planned to estimate

(3) has been determined

(4) is billions uffupeeu

71. The type of disaster not mentioned
in the passage is
,L«H’ﬁrmdu .

_,.H".’i ht"l’lt Waves

_gA44""volcanic eruptions \/

(4) earthquakes

2. :\cmrdﬁng to the passage, Greece

and Canada have recently been

alleeted by -
eat “'HV,
(2) wildfire

(3) floods
(4) earthquake

W-61/TET-211-EM/TM

Now answer the followi Ing questions chooging the CORRECT option.

73. Massive forest fires have ravaged
parts of Greece and Canada.' Choos
the meaning of the underli "‘“P wm‘d?

;gk;i

Idfntlfy the word from the passage
which is opposite to the word
Mo
(@) drained
(2) inundated
(3) ravaged

(1) managed
(2) repaired
(3) constructed
{4} devnstat.«:l

74.

.',.0-....

--._.Ic‘

I~
N

Turn Over



75-79 : The following passage has fite

pumbered blanks. For each blank, four

alternatives ate given. Identify the

CORRECT option for each blank.

-

Thﬂeﬁeﬂofsalt.....,.{75].....,.haa1th
i8 AN 1SEUE oo (T6)enr
agrees or NOr ....(T7) e in. People are
finally thinking about the dangers
coeris (TB).... they are prﬂaant'inthﬂirfmd.

(1) with
(2) off
(3) of
(4) on

75.

76. (1) where
(2) whose
(3) which

(4) who

77. (1) interests
(2) interested
(3) interest

(4) interesting

78. (1) asif
(2) as long as
(3) as well as

(4) as on

79. (1) lowest
(2) fewer
(3) low

(4) least

W-61/TET-211-EM/TM

81.

[16]

83,

BOOKLET @

Choose the appropriate yerb form to
complete the sentences.

A: Have you completed your

assignment?
B: No,L..ccues i i icasdiestons
(1) haven't (2) hasn't
(3) amn't (4) have

Either the boys or the girls can do
the work.

The underlined words in the
sentence nre

(1) adjectives  (2) adverbs

(3) ::unjuncriunﬂ (4) prepositions

Read the statements (1) and (b) and

choose the RIGHT option.

(a) Many stories has been written
by Sudha Murthy.

(b) Sudha Murthy has written
many stories.

(1) Both (a) and (b) are correct.

(2) Both (a) and (b) are incorrect,

(3) Only (a) is correct.

(4) Only (b) 18 correct.

The host is looking forward ...
seeing the guest. Choose the
CORRECT word to complete the
sentence.
(1) 1

(3) about

Choose the CORRECT option to
complete the sentence.

(2) to
(4) on

Ms. Ramani is ....coveren... professor.
(1)
(2)
(3)
(4]

the university
university
an university

A university
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85. One of the following is NOT a featurs | 88, Pick the CORRE

87.

ENGLISH METHODOLOGY BOOKLET ®

[vr .!Ht‘.m"ﬂuh

of language. : A
| Statement A: Deductive Approach
(1) It exhibits displacement Teacher is the authority in the
classroom.

(2) It is inhenited

(3) It is systematic Statement B: Inductive Approach:
15 & guide and -~
(4) Tt is ereative Teacher and helper. ~
mm statements A and B et

correct "\
“hdh statements A and B are
,m

Y Only statement A is correct

(4) Only statement B is correct

HA stands for

In the transaction of a project work, >
the first step is g :’
(1) Collection of Data

(2) Data analysis and

Ao L Infrastructure for
(3) Whole class activity on the | \ dge Serving
nattire of project 4 ' Instruction for

~ Infrastructure for

(4) Designing Tools for data
collection )

| (4) Instrument  for

A study of a language, its st : !
|| Kaowiedes Starig
i " 90, Whick athu following is NOT a
life by iumahnﬁuﬁaﬂﬂa&su ie feature of 'Project
life. including standard and | work™

P i e t mteg‘rltal listening and

ties 18 known as A e

nonstandard varie e i

(1) Pedagogical Grammar g anjwntmgakﬂll.

(2) Comparative Grammar " “ m] s and
: bl 1 "& l‘ in!m‘pﬂmnnl skills.

' (3) It promotes collaboration and co-
| : opérntinn among the learners.
-tdl) It is a Jearner-centered activity.

(3) Prescriptive Grammar
(4) Descriptive Grammar

Turn Over



PART - 1V
MATHEMATICS CONTENT

BOOKLET @

Iflog 2=x, log 3=yand log 6 =3
then log 8345 in terms of x, , 8

91.

log2=x, log 3= yssbaio log5=2
Lok, logﬂr%‘-lﬁ SeSu X, Y, zod

Ix+2y+2

94, From the following, choose the
methods for finding the solution(s)

of a pair of linear equations.

A) Graphical method

B) Substitution method

C) By the method of Completing
the square

D) Elimination method

Choose the CORRECT answer.

6 x+2y+2 )
T A T
(3) 3x+ 2y += >
1 %
(4) 3x+—(2y+2)
3 @ .
<)
92, Aisthe set of all factors of 15, then
s the number of all subsets of A are

93. The vertices of a AABC are (2, 3),
(=1, 0) and (1, —-4) respectively, then
the length of the median through

vertex A is (in units)

(2, 3), (-1, 0) 5080 (1, —4) oo SusSme
AABC Doy, S, wous $ER A oo
M@W%M‘@(nﬁpﬁfﬂé‘)

1 B and C onl
E;EB.CHmiDy 07 ;‘\P )
@ B,CandDonly ¥ / A O
(4) A, Band D only 4 .G
38 oot sood, w8 Al Sioatene not

A O - -t
Jomsted. £
A) o (ri)sge Y~
B) 8030558 frd
0) smasogrg 38850
D) Stoes Selois 358
5ps Saromn, Sewsled ﬂtg\ P

(1) A, B sodctan C anges
@) A B Cstcss DD
“(3) B, € so8ctian D svpds

(4) A, Bastas D s

The sum of the squares of two
consecutive positive integers 1s 545,
then the greatest of those two
mntegersis..............

Tolls S o Pof Hepyo Hore Dastiu
545, saxss & 53

(2) 6 §=
B .

, (1) 16

3 V10 Q’b} Q‘D (3) 14 (4) 15

(4) 5 e B> .
W-61/TET-211-EM/TM L+&D p8) (=) 4C ng) '}_':fi

g -4 Rl . has
TR > it

'-L_f-;-h _- ﬁ_’l'}_‘_;i_,..l
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A

o)

ty set from the

N\

. Choose # non

following:

(1) Set of even prime numbers less
than 5.

(2) Setof integers which lie betwoen
3 and 4.

(3) The set of all triangles in 4 plane
huving the sum of their three
angles less than 180°,

(4) Set of odd numbers that leave
remainder zero, when divided

by 2.
mwmwm
BB 30 B5r Sogge 3300

}bx

93_55:: 4 o By AP Hewye

::mwa‘a Bgem ool mar Srro
oo 180° ol 8 30 1GCore 2020

@2 3 photsdss o oy 53,
Essopo 8ol

97. A car takes 6 hours to reach the

destination by travelling at a speed

of 45 km/h, then the time taken (in
hours) by the car if it travels at a

o

98,

Y. +F
\i}ﬂ- BOOKLET @

The radius of a circle whose centre

15 onin and passes through (-8, )
is (in units)

Doty (-8, 6) RodRp nle @3y,
foitie Sarelotiey ot of Tprle Le '

(cres') &x / -

The compound interest on 6,000 al
5% per annum, for 2 years

compounded annually is .........

26000 e 6% Sq S0 Sops B9
W:@mmﬁm
ri

%"3/5

(3) 2635
(4) T625

100. A farmer obtained a yielding u{'

bags of cotton last year. This yeur
due to rains he lost 20% nfhua crop,

' then the number of bags of cotton

gpeed of 8O0 km/his ...
this yoaris ...
3 T Nowss 45 S0a dnseod sarried
pe 6 rowodt St 18 3¢ ¢ T £ TOok 10 Sesbte B Sowd® 2420
nowss 80 3. Do, dmsad Sairdels s Slnd 030, S Reiite Wge
mmmgaqmm(m.pc') mznﬁmm
31 ' 3_'_;_ T Soite B0 v geesvsersar Y
1) @) “3 (1) 2040 ‘;ra
3 : (@) 1836 Y <
e ' N
@ %3 (4) \ ,7*_;@:
(4) 2020 v
: N
W-61/TET-211-EM/TM nel o [ &2 Turn Over




I 212D 5 - S

.
--:’,;_'..I""/ Tl BOOKY g1y
9 pal| )" B
101. The mean of first 'n’ even natural RESRRECoal v (o i 1*11'" 61!
numbers is 61, then'n'is (2) A, Band C =6)
Tt .ﬂ.ﬂmwmﬁlmﬂ (8) A and B only "—;k 21 {w4) 1) 28
s A n' Sess ;‘l'."h(' (4) B and C only wla W ~6)
x/ M3 (2) 80 e ¥\
ey e - @8 caspmet et e
3. | 5 HoBcia ST TRy Dot s
102. Four equal circles, each of radius
' 7 em touch one another, then the A Srealis e Blrmes ¥OAS Ly Siovag
QQ‘I‘ Sarea (in sq.cm.) fgimed between Bootgee £ By Sistite.
2\ them is (Take % =) . s s i ot s
@ T Be.le. oo NEN Treas BIPY Sootipwe LY Sttie.
\ DPRRes S fetReinmcn saxs ¢ 'éfami'r@w!ﬂm:.!wzﬁu
[V SGexe Sogg 3dﬁ§2w PR }‘ ;
:...-—"—""-F LY =, :I
T 2 L T sy
\ A2 & ‘@ | (2) A, B =sdas C |
& Ve 918 (4) 157.5 |
\ (3) A 10ak0 B somisds 1
|

103. The smallest prime number dividing
thesum 314  (8ig....

‘cﬁ:’ 14 E m‘. -

34 .6 o rhesnbh L
‘Sr_'} e« sesnun q Wh

\y 9

o % N
9 - 54/
25 . vy
'1_104. Read the statements about

5*"6 quadrilaterals and choose the
CORRECT statements.

A) Aparallelogram with four right
angles is a rectangle.

(4) B 200k C SrEde

1
105. The number of spherical balls that

can be made out of a solid cube of
lead whose edge measures 33 cm
and each ball is of 3 cm in diameter
are (Take 7 = %]

33 Do ghein Fesm Ne oY by
Sdodoiitos Med 8 Be.bs. Dyt 50AS
"ot setoeam VOIS Daxbad, o
uan:eaoa;(!=%m@§'n¢)

; B) A parallelogram with adjacent (1) 636 (2) 318 :

sides equal is a square. (3) 2541 (4) 1270 -

C) A rhombus with four right g

. 14
angles is a square. b %5
W-61/TET-211-EM/TM [20] i 52 3}@ F‘O%.’ 4
-61 -211- “:f‘.\ "\ € o 2?’* % -ps.-r
28R R e
ey

4 "y Eﬂ




Cee UO > CoEC 30
— =

106. If secd0 = cosec(d - 20%) . where 40

15 an acute angle, then the value of

i3 T RO
(SE:?B:{:D:.EG(E-EU"] 40 soSte
o b Dess
e
(3 11" (4) 15°

107. Two dice are thrown simultaneously,
then the probability that the sum of
the two numbers appearing on the
top of the dice as a prime number 18

BOOKLET @

P ) SohEye Tedfis wesrenm
ogEodeq@, LY, gedisan
R
T Soredon 'm Sopc¥ie wdly

2 .‘.r:-g"
é‘ m "'E’F‘ :.‘La,.i_ -|ﬂ-.¢ 75

=

[ ==

(3) meass PR RO B AN
nEs
(4) 0 BUDE™ Sorytpootd Jases. L

109. Choose the CORRECT answer

related to rational / irrational

5 numbers.
(1Y Tois des L0 ol ol
@ Soes P BUbeS Sope IwE BTN 1) FF+5+47 =415

m;vh&wﬁgb = #+2J_+ R |

' 2 7 / (2) is ratic
a3 @~ L1 288 W27

“,'r 4 i "-""A. numbtzr

»t 4 q | | .

/gg (4) F @ ' (3) bﬁ ) [1“92 ) is irrational /g
"’5{ / number

108. The students of a class are divided
into four groups and allotted each
group the work of collecting the
data. Choose the group where the
data collection is ary data)

¥
¥

student have.

(1) Number of siblings that each | .

(4) 3Jil5JE+3JE~—TJI_§)iﬂ

rational number

(2) The distance between the school
and home of every student of

:
| their class.
d <. (3) Day wise number of absentees in

a class during last month.

(4) Heights of all the students in
their class.
- W-6UTET-211-EM/TM

20

emricts [ sckis Soget SetofelS 5T
s Jowssled.
I A
‘?Qli ¥ + _5__+J—=JE
44243 LS o

R TSR 7;;
f* ® (45) (02 sk oy

(4) SJZ-(SJS__J:-SJHTZ-—?JI?)
eitedals s

Turn Over
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vl

/0

\§~ 110. The next term of the Arithmeﬁc

pmmwnﬁrﬁ
\,-:v wordd T,4/28,/63,....

o T
@) J79 (4) ]

uL The angle of elevation of the top of
o apole from the foot of a building is
45° and the angle of elevation of the
top of a building from the foot of a
pole is 60°. Then the ratio of height

B
W of the building and height of the pole

\ . @
‘P - n¥ $ Do ool Fogic B ovic 45° ©
#ﬁnﬁﬂ'umgﬁ'm 3 SeBalas
Segic Moo :;‘cg
112, If the geometric progressions 64, 32,
Ll

i

= -

1 "

f kgshah_n:.gagﬁﬁém
K
|

| 1

16, . have their

wand T T T e

16’8’4’
n'* term equal, then the value of 'n’

'hﬂ""

g4  \20 & » 62
B

()UKLET

113. If the diagonal of a square is 'a’
units, then the length of the

diagonal (in units) of the square

whose area is double thag of the first
E{[HBIEI.E....." -«--‘J'- 1 "‘:5:: - ?.
gw&pum ‘6’ A eSS

(4) J2a

114. If sec A + tan A = 2(0" < A-:ﬂn")

=

then the value of sin A is A
secA+tanA = .t(l]" <A< Blli
— ~
Lo S1n A Deod \_.rf
1 2 ; fqr *P
— I ; {z LN
&) 1+x° é 2 - o
A% dr# \,r'
1+x° A
(2) 5 o
1 o 1“1-\
2 L) 1 -
=1 -
@ = SLT leMh
x +1 o 4
O
2 \\ﬂ .
x“+1 R
o :
\ A Nf}\
- (T >\ H
— A e ko - -
J"’h‘" > R ;&i >
\
s A
1 N ¥




MATHEMATICS

METHODOLOGY BOOKLET

5. While learning mathematics,
students construct their knowledge

\y through following process:
@A} By reading and doing

B) Questioning

C) Arguing

e

D) By analysing

E) By synthesizing

Choose the CORRECT answer:
(1) C, D and E only

(2) A and C only

(3) AAB,C,DandE

(4) A and B only

‘u-!n-c;:a...é‘ 1 Sol Domesm Sakio SO

A

e

-9

o

ST e oty Satel 3
(1) C, D 550ais E sges
(2) A sodcis Camiss

A B, C, Do E Y
(4) A Sobca B Sosss

116. The stages of 5-E learning model
from the following 1s:

A) Explore
B) Engage
C) Evaluate
D) Elaborate

v

%

Choose the CORRECT ordep:
(1) BAEDC
2) ABCDE
*"l.

%" 3 ADECHE
4 BADED/C

* S?va
8%

5-E eQpin wsaresE £y Ao e e 0 J/‘}:f

e plorc: "’"r-f‘

A) denee | S/

B) asopewice <\ A

0) surorpelie Sakts @) @

m:ﬁmmw@k

E) sstesee -®) S/
w:,f’PX

Sie ESPD, JobF Doised :
| ,AE,D,C \

~.(2) A,B,C,D. E
3) AD.ECB
4) B, A, D EC

)

o

117. It 18 conducted to identify the
talented students in mathematics
(1) Mathematics Club
(2) Mathematics Olympiad
(3) Mathemﬁm lera.ry
(4) Mathematics Laboratory

xeloed' 3ogNe Jongtien Kogosos
ATROuRD & ' |
(1) xeds
' '@) NAS Dol )
_(8) nedo fegroaiie
(4) reds @rre

E) Explain

 W-6/TET-211-EM/TM
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rlammuomnsmmm“‘“w

) o Sdens SR T
. D) 3% eergie Tadice .

119. The following tips are useful to the

®
L]

i ali-

serious hindrances in lanrmlll‘s

mathematics for the students

A) Lack of basic cnnpapt,g;}‘f_‘n
' mathematics i

B) Lack of conceptual
understanding S

C) Lack of proficiency in language
D) Lackofpractice '

E) Lack of memory Ry
Choose the CORRECT mﬁr

(1) CandEunly ¢
(2) C,D :u:ul.Ei.‘ltrdj»r
-- "ai

(3) A, Band C only
(4) B and Donly
do et :a.-:-;u;n nelong s o

E) spoy 3 8udsdo :
NTS ey Jebl Jaked

(1) C Ss0ax: E srgio

(2) C, D 3:8cs E Sy

(3) A, Busdaias C Smsds

(4) B sodax D somsids

teachers while teaching theorems in
Geometry for student's better
understanding.

A) To provide prior appropriate
experiences in concrete form

BOOKLET @

B) To train the students in
developing logical thinking

C) To ensure that the students
have a knowledge on conclusions
drawn from the axioms and
theorems that were learnt earher

D) To ensure that the students
have skills to do constructions
with correct measures related to
that particular theorem

Choose the CORRECT answer from

the following:

(1) B, C and D only

2) A,B,Cand D

(3) A, C and D only

(4) A, B and C only

3o o8 wed booore Ohud

e T S e

A) Docolomr OND S eRgTroi
spoucie -

B) oongtcets  oo0y 8 edfuses
Sodrcboiahl Dorgtoets BN R
Feake

C) Sortioots srod3 Sowofods Bef)
ores, Beneld Pt seore phore
S43 mpide Goliols WrEWS

D) swrlorcereds Dorelen BAS
Fodod o Nogres SAERd
BAS TOrTgeo dotinn Bmsstade

ST e debl Botood ¢

(1) B, Css8as D sovgsds

(@ A B CatanD >

(3) A, C5obcias D s
(4) A, B 5staxs C smpdo

E
——————— e S = R [

|
i

".'t'._

=

W-61/TET-211-EM/TM [24]
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PART -V
SCIENCE CONTENT

BOOKLET @

121. The first discovered antibiotic 1
(1) E rythzom ycin
£) Azithpom ycin
8] Streptom yan
@) Penicillin
Tostem Beitiess aredoamds
(1) 2086705
(2) eaSehuhs
(3) 3PS
(4) 305

122, These cell organelles are the sites of

protein synthesis
(1) Glyoxisomes
(2) Peroxisomes
(3) Ribosomes
(4) Lysosomes

AT o tehies e Semomod etarotoed

(1) nesrd o

(2) moedais
(4) B3 E e

123, 'Scabies' 1s caused by
(1) Bacteria
(2) Funga
(3) Micro-arthropods
(4) Viruses

o ' SaoiE o
(1) ericcires

(2) 2beores

(3) e
(4) 2thes

124. Identify the Poikilothermic animal

from the following:
(1) Crocodile

(2) Whale

(3) Penguin

(4) Dolphin

W-61/TET-211-EM/TM
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125. ldentify the

102 ot hoety setens fogeted
(1) a=nd

(2) Sleches

(3) Sofge

macronutrient
necessary for the plants from the

following:

(1) Copper

(2) Zinc

(3) Iron

(4) Phosphorus

108 od Tonel  euseseds
spediap, ogesed

(1) s

(2) ek

(3) =85

@)

126. The alkaloid 'Quinine’ is obtained

from this plant
(1) Datura
(2) Cinchona

(3) Papaver

(4) Rauwolfia

'IQS' ud uabﬂlu»& S Dol ool
oSt

(1) S

(2) Aost»

(3) a8

(4) o



~127. ldentify the cause of 'Global
Warming' from the following:
(1) Release of CO, pollutants by
burning fossil fuels
(2) Release of Nitrogen pollutants
from the factories.
(3) Release of CFCs by excessive

BOOKLET ®

129. Identify the producers of the pond

ecosystem from the ﬁ.r!lltiW'll'lH
(1) Zooplanktons
(2) Phytoplanktons

~ (3) Saprophytes

(4) Detrnitivores
1o oRé® Pods witmimn &

use of air conditioners KBesed
(4) Release of Sulphur pollutants s
from the factories f:;; <
o8 6" Fiud ol S Soandh
ey fogoned 4) el
(1) 3o oo Sonow&Eo TuT 130. These blood cells are called as
CO mmm . . : y
2 sed  eS e b
(2) m;w:m e Ty (1) Blood platelets
g (2) Eosinophals
[ 1
(3) doask uauﬁﬁz?c g (3) Neutrophils
__wm.________
o (4) Monocytes

() Soyrore Seed Seb mesy o |)
ol

128. The change in the frequency of
genes in a small population that
occurs due to sudden events iz called
as
(1) Genotype
(2) Genetic Vi ariation
(3) Gene Flow
(4) Genetic Drift

%wwwmmﬁm
Shoem @SSP 3-:5-'@;..'50::- SPOHe
Dithtaaray T SFoi el
(1) sogomse
(2) waoy pee®
(3) sids; Sawee
() oy Dmsee

W-61/TET-211-EM/TM 124

tyeb’y B BPeSS A GO’ S
(YT las]

(1) o yeltes

(2) =

(4) 2,

131. The number of mitotic divisions are

required in the formation of 2566
daughter cells from a single mother
cell

LY Bt Mol 266 by Srre aind3

7, SSDgEIes Sislo
(1) 16 ?/"’Q
(2) 32 ™ 'O\,g
3) 6
oo ol
/l'ur Over




BOOKLET @

135. Equivalent value of 1 Hertzis ...
(1) 10 vibrations per minute
(2) 60 vibrations per second

132. Which of the following reacts with
Chlorine gas to form bleaching

; _ 3) 1 vibration per .
(1) Conc.Solution of Ca (OH), (4) 60 vibrations per minute
(2) Dry CaO

1 inf, Mo SRR Swos

(3 Dry Ca (OH), o
(@) dil. Solution of Ca (OB,
m@oaa-aa'bas_}ssa-mﬂm,m (@) 1 o0ommE w5 Sonie

(4) 1 22308 60 BoSes

Book 2ab o DEEen?

(1) m& Ca (OH), orare 136. The maximum displacement of a
3) 24 C T o

@) a (OH), (1) Oscillation

('i} sue Ca (Oml m } (2'} ﬁme pﬂ'riﬂd.

(8) Amplitude
(4) Frequency

133. The other name of artificial silk is

(1) Rayon
(2) Nylon SRy oS e el el NOR
(3) Acrylic Frsgewy, BHLD :
(4) Polyester (1) Seso _ -"‘/
T (2) wee Tee 1
Hios k&, % Bl S | ¢37 Sowsis 800D
(1) S .| (4) Dapee
(2) pevn | 137. The celestial body that revolves
(3) wibE 1) around the sun in highly elliptical
| Orbit i8 .vecvveerees
(1) Asteroids
184. Weight of 1 Kgis equal to ...... (2) Dwarf planets
1 Kg & 350508 gpteid (B} DMevoors
(1) 3.94 (4) Comets
@ s Sz w8 By pows L0
3 0.098 N 2O@moeD PR I cearenens
\ferm (1) egoronts
(4) 0.98 N
(3) Gopee
(4) S e
W-6 /TET-211-EM/TM [28] _,
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138. The method used to separate |
mixture of Ammonium Chloride
and common salt i8 ...

(1) Evaporation

(2) Fractional distillation

(3) Sublimation

(4) Distillation

A Iee §E Hobods oriies &5
S B ool AndrNeR 350
(1) grodines

(2) ool St

...t»:i:l
{ e 3

139, The refractive indexofa glassis — /iy
Then the speed of light in the glass

8.

(11 ax10°m/s (2 4x10°m/s

@) 4x10°m/is @ 3x10°m/s

uwmwwi-w

el Wie

(1) 3x10% /3 @) 4,:1055:,?3

(3) g4x10% /> @) 3x10° 2/
140, The molecular mass of H,S0,1s

H. S0, &%, 6t 550
(1) 98 u (2) Bu
(3) 48 u (4) 68 u

141. The nature of size of the image
formed by a concave lens among the
following
(1) point
(2) diminished
(3) same size as that of object

BOOKLET @

don & Pormo Nl oo DA

5

B0lcw SSL»m vjmc
(1) Delss

—

ool S5 30nrme
(4) D
142. Which of the following is NOT the

BKHI’H]P]E‘ fﬂ‘r L'-'I\’Hlpn[ rnmpnllnd':'

4 308 PO SEDrubal Soie 1RO

07 X
(1) Na,0 (@ HO )
(3) CH, T NH,
143. The percentage of Acetic acid to be

added to water to prepare Vinegar
TN

onE ooarbEt HE seset el el
ooy, e
(1) 25-30%
(2) 6-8% EF
(3) 10-156%

) 1-3%

144, Rearing of Honey Bees 1s called as
(1) Vermiculture
(2) Apiculture
(3) Silviculture
(4) Sericulture

S0 r0 Doty T Dy woinl
(1} - "'EQE

(2) s ﬁ

‘\1.________'___,_,--‘

(3) hb¥eb
(4) So¥eb

(4) enlarged
W-IIFI'ET-SII-EMH
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' SC]ENCE METHODOLOGY
145. A Biology student recognises the 147. A test is reliable when
peauty of nature and appreciates. (1) it exhibits consistent results,
Eheyalue U . e when it is evaluated by two
~ i different valuators
Disciph value o
{l;: C‘ultp llm:us (2) i1t measures what it 18 aimed to
ural v

(3) Aesthetic value
(4) Utlitarian value

(2) oidy, OIS |

146. This teaching method 18 used to

%&w&ﬁﬂ?ﬂwﬁz‘{

teach the concepts from ‘Specific to

General’

(1) Deductive method

(2) Inductive method

(3) Problem solving method
(4) Activity based method
LY DR, ‘el wodo Rod FPie
seTy BHonmnt s3SI -s'r,i::aqa
(1) RNSSS ;54..:5
(3) sSusis, SO0 850
(1) poosgs

r61/TET-211-EM/TM [30]
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measure
(3) it is easy to administer, score and
interpret

(4) it 1z useful and acceptable H_-',i.:*'

iy

both the teachers and gtudents \l

Sgsbanble sby em

daysedinspts JUR3E wOorods |
suaesa :
(2) Soscal adiens oUs FES0
(@) ntincsend, 345 SabmRi B0
eye Susstacnd wootRp=t
(d) BIgrcvseys S0 DRSO
-
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148. Identify the INCORRECT sentence
regarding laboratory method
among the following:

(1) Dilt*iniun method is useful when
the experiment is too big to
complete in one period by any of
the student or group.

(2) Laboratory method pmvide:
contrived experiences to the
students,

(3) Class front method is useful
when ﬂ\’ﬂilﬂhiﬁit}' of equipment
for all students. _

(4) Rotation method is useful when
non availability of required

equipment in science Lab.

SSL T 0D e, KoBoued
7 <
o0 T Y Share IS o

== BACLES e Acons Sarle o
::I;Efl o 'In-n'a":=d- - m w
AP

e

(2) B@rnmo 258 Dovgdyels Y00

BOOKLET @

149. A student in your science class
a:plnined about pollution control
methods in his own words, The
objective in thisis ..........

(1) Receiving

(2) Valuing

(3) Responding
(4) Understanding

55 35 THE LY Do B3 b Erwed
Mol HaoBe SEce 10el ZLieT.
&26' e o o

(1) gerodto

(2) Dess Moo

(3) g-biﬁbu:ﬁ&

) e

150. The type of questions has less scope
| for subjectivity among the following
are
(1) OpeuI ended questions
(2) Short answer type questions
(8) Multiple choice questions
(4) Essay type questions

SO wolited i
: >aé ] Uaﬁqﬁ:

(3) Somtswetitd SO¥OWY wetoprnd :w é:w B,

j: ;mm :ﬁ B (1) £352008 e

t ﬂ%fi (2) ol S e
(4) '-'i-S_;. -“J"Et.ac; wondage :bb!a"l:: & i

wolseresd® Bipts PEee 3G l._(h__“"__%:'i‘)!_ Eﬁf/

ASCPREERENE \jﬁ""ﬁ’_w—_ )

#—
(31]




